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General Instructions :

Read the following instructions very carefully and strictly follow them :

(1)
(iz)

(iii)

(iv)

(v)

(vt)

This question paper contains 33 questions. All questions are compulsory.

Question paper is divided into FIVE sections - Section A, B, C, D
and E.

In Section A - question number 1 to 16 are Multiple Choice (MCQ) type

questions carrying 1 mark each.

In Section B - question number 17 to 21 are Very Short Answer (VSA)

type questions carrying 2 marks each.

In Section C - question number 22 to 28 are Short Answer (SA) type

questions carrying 3 marks each.

In Section D - question number 29 and 30 are case-based questions
carrying 4 marks each. Each question has subparts with internal choice

in one subpart.

(vit) In Section E - question number 31 to 33 are Long Answer (LA) type

questions carrying 5 marks each.

(viit) There is no overall choice. However, an internal choice has been provided

(ix)

57/5/3

in 1 question in Section B, 1 question in Section C, 2 questions in Section
D and 1 question in Section E. A candidate has to attempt only one of

the alternatives in such questions.

Wherever necessary, neat and properly labelled diagrams should be

drawn.
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1. 39 fomred w1 ==a Hife SS90 Urreies &1 38 g1 S U o 3TN 9 Terd fiye
IERIRIDIE 1
(a) TeaTHIaT faweiforear : isagan, 3etd der
(b) TIsHIEEE : TRgT W e vo<ht feafaat (wheft ofer)
(c) FHRRIT FFI7eTg : FAUTE I TTHihT ATfEh1aT H <reishleish MY
(d) FFfeea sFgTA : 3T 61 TAY

2. HfY % Hw U8 HEweyyl 9T S 53 Sfia % fore Hevegul A€ B, T8 1
(i) SHIAATTYT (i) ¥ T A
(iii) A qUT Y (iv) e
freferftaa fosred o @ ot faespew g :
(b)  here (i)

(@) 9 (i)
(c) (i) TqT (ii1) CORMCVERING)

3. 3T TGS (HiTdigH) TE Hi (Felt) & IR 6l ag T TEd & | Sal 1 I8 IREdien

HEY HgAdl & - 1
(a) EEAISTAT (FH-AfTSH) ORSIEGI
(¢) I weifaar (Wafesn)  (d)  S@rdehi
4. = s yfaees TERIfaIus Pst-I' & Sfdeed e a1 € w7 U 310 W foaeem - &
TIMATTATR 1
N%

5C-T-G-C-A-G3

3G-A-C-G-T-C5'
™

USTEH Pst-1 61 5ha1 o qiumsea®d s arel Tei i guri aTel T2 forehed o1 19 I :

(a) 5C-T-G C-A-G3
3G-A-C-G-T C5

(b) 5C-T G-C-A-G3
3G-A-G-C T-C5

(c) 5C-T-G-C A-G3
3G-A-C-G T-C5

(d) 5C-T-G-C-A G 3
3'G A-C-G-T-CH5H
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SECTION - A

1. Select the pathogen mismatched with the symptoms of disease caused by it
from the list given below : 1

(a) Entamoeba histolytica : Constipation, abdominal pain.

(b) Epidermophyton : Dry scaly lesions on nail.

(¢) Wuchereria bancrofti : Chronic inflammation of lymphatic vessels of
lower limb.

(d) Haemophilus influenzae : Blockage of the intestinal passage.

2.  Important attributes belonging to a population but not to an individual are : 1
(1) Birth rate and death rate (i1) Male and female

(i11) Birth and death (iv) Sex-ratio
Select the correct option from the given options :
(a) (i) only (b) (i) only
(¢) (1) and (111) (d) @) and (v)
3.  Many copepods live on the body surface of marine fish. This relationship is
an example of : 1
(a) Commensalism (b) Parasitism
(¢) Amensalism (d) Mutualism

4. Given below is the restriction site of a restriction endonuclease Pst-I and the
cleavage sites on a DNA molecule. 1

5‘C—T—G—C—A\1/G3'

3G-A-C-G-T-C¥%
™

Choose the option that gives the correct resultant fragments by the action of
the enzyme Pst-I.

(a) 5C-T-G C-A-G3
3G-A-C-G-T Ch5

(b) 5C-T G-C-A-G3
3G-A-G-C T-C5'

(c) 5C-T-G-C A-G3
3G-A-C-G T-C5'

(d) 5C-T-G-C-A G3
3G A-C-G-T-C¥
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5. = Tk ST HIRERT % T AR T T (mRNA) § &R 6 3THH I SRR T 2 |
TG o SR ‘3’ T IAFRIA Tehe qUT 5’ W AT Tehe W Frfid wiFr-srat g 1
3' AUCAGGUUUGUGAUGGUACGA 5'

(a) T, HifrEE ®) fadm, e
(c) e, Sl (d) uH, It
6. HME & TTY 1 forega damTedeh oo i €9 8 fean T g 1

() & ¥ e e 1 15-20 diferat Bt 8 f5=8 it hed & |
(i) TS % i & g wveiiE A S |

(iii) fepTd weh gER § firerent T anfert o1 fmfor et 2 |

(iv) T qferht greraTlet (et g9e) A ISl gl € |

39 fohed w1 T <11 AT T Uiy 1 aE foewor 7 |

(a) (1) AT (1) (b) (1) AT (iii)

(¢) (1) TAT (1) (d) (1) 9T (1)

7. SHEEIR 9 Y AgeqUl §w Il aUT I9h Gid Sal i get A & 18 R | Tl firet ol
fohed w1 g : 1
T=-A T=i-B
%4 | Soukrasar | % 9 | geueta (da sa)

Q) | aEEEiE-A @) T

B) | =fH (ii) ZTSHISH] TeA T

C) | RLEI (i) | 9ffaterm Tieem

O) | uffafem (v) | 7T wghsra
e :

(@ A-@0, @)-G), (©)-G), @D)-Gv)
) A-G), @B)-Gv), (©)-G), D)-O
© A-Gv), @B)-G), (©)-a), D)@
(d) A)-@), @B)-Gv), (©)-0), [D)-Gi1)
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5. Given below is a sequence of bases in mRNA of a bacterial cell. Identify the
amino acid that would be incorporated at codon position 3 and codon position
5 during the process of its translation. 1

3' AUCAGGUUUGUGAUGGUACGA 5'
(a) Phenylalanine, Methionine (b) Cysteine, Glycine

(c) Alanine, Proline (d) Serine, Valine

6. Given below are structural details of a human mammary gland : 1

(1) The glandular tissue in the breast has 15-20 clusters of cells called
alveoli.

(i1) The milk is stored in the lumen of alveoli.

(i11) The alveoli join to form the mammary ducts.

(iv) Mammary ampulla is connected to lactiferous ducts.

Choose the option that gives the correct detail of human mammary gland.
(a) (@) and (i1) (b) (1) and (ii1)

(¢) (1) and (v) (d) @) and (@111)

7. Given below are the list of the commercially important products and their

source organisms. Select the option that gives the correct matches. 1
List A List B
S. No. | Bioactive Products | S. No. | Microbes (Source Organism)
(A) Cyclosporin A 1) Streptococcus
B) Statins (1) Tricoderma polysporum
© Streptokinase (111) Penicillium notatum
D) Penicillin @1v) Monascus purpureus
Options :

(@ A-@, @-0), (©)-G), O)-Gv)
(b) A-G), @B)-Gv), (©)-a), [D)-0)
(© A-G@v), @B)-@, (©)-1), D)-0)
@ @W-@, @B-av), (©-0), D)-Gi)
57/5/3 AN Page 7 P.T.O.
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8. feemm whianfeny (fede aluiys) 1 S5 oo fifea safeh o) eran Sl & o o g @
7 Tepm 61 wferett e HaT 2 - 1
(a) & wfcren (b) TrfsHa wfen
(c) Tufaean (d) afsra wfaen

9. Toreht urfcas o nerfires Icareehdt sl et w9 @ 31firers #id 8 1
() gmZyr! (b) gmZyr
© Kcalm2yr! d) Kcal m

10. 39 ferheq 1 gfe o1 fam 7 feu e faepmasfiar fysieresft yor & U, X, Y @9 2 % qgam
T AR oh! ! T H STAT & : 1

(@) X -9 (2n), Y — @& (n), Z — S99 (2n), U — T (2n).
(b) X-9H (2n), Y — F&@h (2n), Z — TAR (2n), U — 507 (2n).
(¢) X-T@@® (2n), Y — 99 (2n), Z — T (2n), U — I (2n).
(d) X-—#N9F (2n), Y — TAH (n), Z — T8 (n), U — 5@ (n).

11. 9d9E 4 81 @1 Ba faeiivd’ dge g1 g et faetoHi @ safer fis € i =g 1
(@) 10-100 7o AfYe d= B | (b)  100-1000 T[om 37ferek <fieT & |
(¢) 100-10000 e dig= 1 (d) 1000-10000 ToT 37ferh =T B |
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8. Tetanus antitoxin (Tetanus toxoid) when injected into the human body it

immediately provides : 1
(a) Innate immunity (b) Passive immunity
(¢) Auto immunity (d) Active immunity

9. The primary productivity in an ecosystem is expressed as : 1
(@ gmZyr! (b) gm=yr
(¢ Kcalm?2yr! (d Kcalm™2

10. Select the option that shows the correctly identified ‘U’, ‘X’, Y and Z’ in a
developing dicot embryo. 1

(a) X — Plumule (2n), Y — Suspensor (n), Z — Cotyledon (2n), U — Radicle

(2n).

(b) X — Plumule (2n), Y — Suspensor (2n), Z — Radicle (2n), U — Cotyledon
(2n).

(¢) X — Suspensor (2n), Y — Cotyledon (2n), Z — Radicle (2n), U — Plumule
(2n).

(d) X - Cotyledon (2n), Y — Radicle (n), Z — Plumule (n), U — Suspensor (n).

11. The sixth extinction in progress currently is different from all previous

extinctions on earth as it is : 1
(a) 10-100 times faster (b) 100-1000 times faster
(¢) 100-10000 times faster (d) 1000-10000 times faster

57/5/3 AN Page 9 P.T.O.
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12. foohm ot g Srae Ry A 3 3794 IR hT W1 ¥ @I 1 IUATT BT AT Gqeh! hl
of o STrE TS YR fokan 1
(a) &Ml efafera (b) s ama
(¢ SETHME ) &l e

TR T 13§ 16 % U, Qe feu T 2 — fs T 1 stfiene (A) 79T gL 1 SR

(R) 3T 3ifehet foham a1 2 | 37 WAl % HE I AR fou M HE (a), (), () IR () HH

AR AT |

(a) ITRTHUT (A) 3 HIOT (R) SHT T&1 & N SR (R), TR (A) shi @&t saen shial
2

(b) 3R (A) 3R HROT (R) SH1 &l &, T SR (R), ATHHReH (A) hl Tt = T8
FIATR |

(c) 3R (A) Tl B, T HRT (R) 7T § |

(d) FHYA (A) 7T &, W B (R) T2 |

13. afiRem (A) @ If¢ 3TWe M 991 Hfeq | 99g B @ q1 3T9eed hl ha i et
2
wROT (R) 319 Y SAtufshan § qerd: StfawfisH shi 3Tevaehdl il 8 | 1

14. sfrpam (A) : M o % T 1 var Rt yomeR § & e g i g e
3TAuTfh A R |

&®RUT (R)  : Soadyd (Vesrdfad) gur § gm ot fafir= srgaferes fasri o ot uan

T h1 deheieh 2 | 1

15. 3tfeRem (A) : crwffie 5 weh S o foshr & SRoT foha HRINCTIfSH sfaet Sveifyd 2 & |
FROT(R) @ o-SoiEiften w16 W sufRa siv HBA1 dem HBA2 grn fafa
AR | 1

16. 3frRem (A) : wifers s@en it (f & 3R) & dusiicn § dveifvd 3reu-
fFAANCTSE TEA] T ITANT T ST 2 |

HROT (R) @ 3Ushdeh (WTgnd) fetesh €1 o U 3 qieh 8t | STrefra g9 # | 1
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At which stage during evolution did human use hides to protect their bodies

and buried their dead ? 1
(a) Homo habilis (b) Neanderthal man
(c) dJavaman (d) Homo erectus

Question Nos. 13 to 16 consists of two statements Assertion (A) and Reason
(R). Answer these questions selecting the appropriate option given below :

(a) Both (A) and (R) are true and (R) is the correct explanation of (A).

(b) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(¢) (A)is true, but (R) is false.

(d) (A)is false, but (R) is true.

Assertion (A) : Decomposition process is slower if detritus is rich in lignin
and cutin.

Reason (R) : Decomposition is largely an oxygen requiring process. 1

Assertion (A) : Determining the sex of an unborn child followed by MTP is
an illegal practice.

Reason (R) : Amniocentesis is a practice to test the presence of genetic
disorders also. 1

Assertion (A) : In Thalassemia an abnormal myoglobin chain is synthesized
due to a gene defect.

Reason (R) : a-Thalassemia is controlled by genes HBA1l and HBAZ2 on
chromosome 16. 1

Assertion (A) : Synthetic oligonucleotide polymers are used during
Annealing in a PCR.

Reason (R) : The primers bind to the double stranded DNA at their
complementary regions. 1

57/5/3 AN Page 11 P.T.O.
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17. (1) (i) U INHARThd: TGN 3T (3MF) BHA &1 AW foafge S @ uerert &
Ui SR E TG E |
(i)  Hrwek geref o1 A ot fafae Seg se vgg 2 |
(b)  IIETRd: TN Haet o g oy fefe | 2

18. 3TN T & 9 T Hefl 1 80 T (G) e T h1 ®efl () T ydrell 8 | 3731 SHH1CET el
I8 1 ST 1A A & FoTU g ot o1 ITANT hieh qiered gentor # Sfiiersy (S a&q)
qUT HIFIETET (T8I0 T kT feuor Hifsre | 2

19. (a) @ (F/FP7) F g ol fqafei 6 socit (TRAT — SHelfUer) & R 8 5= &
T U TrRIY W 3 STaTv] o SISV 3 SIei |t o1 f5gehial fopa T | 36 S
o1 7 foraet faaett st seefl 9T sHeh! Tsha o dqlies o1 Iooi@ iU | 2
A%
(b) & Teal FET o Iu=R 1 HoH 1R wuTe U gferen faferean & | 3o Uit % wicwen
T <h1 Hshfrd Hieh 319 i 78 fraT ST 2 |
(i) wiore faferean o U= foRT ST aTet Ush el 3TfshaT SUTaEEh T g8 fAfE |
(1) Tt SAfh Bl 3H ThR o YTl shl STTaRIhdT S Bid] &, SIefeh, IR hT TfeweT
T T e 8 € LR R ?
(iii) HEIS HeHA RITE 7 2
ush afget 1 ol 31y & gu gcis e o got (IRRR) JTesHH (qehl) 1 g i
T T T ST AT R | 36 U BT JTEAIT hish T TIHT o IO ST |

)
e

L 1]
100,000 = ¥y uu

R
E 1000} " g, ] e (o o i )
ad

= 10r =\ it
FE 10F oo (W T Y Teh Y T hIS HgaTd /TAICIH I 7 BHT)
= 1p A
Eé OT 1 1 1 1 AN\ 1

10 20 30 40 50 60

g (y)

(a) Tl wWfgfa 6 sida ST+ 8 ?
(b) feu o % FER forg Y o WRfYTh (Y1) ST (Yeehi) 1 TEAT Falferss gt
7 1+1=2
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SECTION - B

(a) Name (1) a GM cereal crop having enhanced nutritional value, (i1) the
nutrient it is rich in.

(b) State any two benefits of Genetically modified crops. 2

By using Punnett square depict the genotypes and phenotypes of test crosses
(where green pod colour (G) is dominant over yellow pod colour (g)) in Garden
pea with unknown genotype. 2

(a) Certain specific bacterial spores are mixed in water and sprayed over
Brassica crop to control butterfly catterpillars.

Name this bacterium and its mode of action on the butterfly catterpillars. 2
OR
(b) Immunotherapy these days is one of the most efficient way of treatment

of cancer. The therapy involved activates the immune system and

destroys the tumour.

(1) Write an example of one such biological response modifier used in
immunotherapy.

(i1) Why do patients need such substances if immune system is already
working in body ?

(i111) State what is ‘Contact inhibition’. 2

The graph given below shows the number of primordial follicles per ovary in
women at different ages. Study the graph and answer the questions that
follow.

>

n
E 100,000} .I.. f'l:. T . Premenopausal Women (regular menses)
o n
.i."’n 10,000 a2 I-_ ... . |:| Perimenopausal Women
) (] LTt (irregular menses for atleast one year).
= 1000} Ho_
< N .E A Post menopausal Women
= 100} od (No menses for atleast one year)
= oo
& 10f oo
g 1‘: A
A OT 1 1 1 1 JAVAVANN |

10 20 30 40 50 60

Age (y)
(a) What is the average age of the women at the onset of menopause ?

(b) At what age are maximum primordial follicles present in the ovary,
according to the given graph ? 1+1=2

57/5/3 AN Page 13 P.T.O.
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21.  “<hIl T Hewh! i F© ST 1 Tk Fo Tom Tevni o w1 g3 8, S 9™ gu 4
3! HEEA A & |7

(a) TR HROT Afgd IWIh HUA h1 IfE iU |

(b) TETHR o fehedl  ALTUN T JooT@ HIFT | 2

Qqug - T

22. (a) “3A9 Sfed sl fFiatar s9TE Wad & foiu ©hswifsem TIEsiaTT ! g=s? auT 9= g1

B TR Y STTavEeRar gt § |7 sare Hif | 3
et
(b) T ‘e & Taad YSft (99) 7', 37a: T 3T T Sl §HTC WA & foT yam
U MY | 37T T 1 YTH T o bl : I Sl gt S8 | 3

23.  “Nehfd GRI WM hi T8 Saffedl shi 3T+ UTHaa Jatati § J&d ek 7 |7
(@) YT h ARETA! Fg HH 7 ST F9 | T IS G Teh T ShIMT |
(b) Safafaerdr 1 gtferg o & fofu =18 uh s wro fafgu | 3

24. Y U YcAtafeheeta M -fieres 3um w1 AW forgsht smen i feent e 1 | ge
(q&) 3191 Tehal R | 3

25. WHE STHM aREsET (Ta St ) T wet A ot e 8 et 3ew < fore @ 1990 |
I[& Teran T |

(a) U= S oo foredi = yg@ st <6 g ST |

(b) HTH % 3fafceh foreht wsh 31 =g Aigat o1 A forRa feept srerrat & srgspaor foha
T | 3
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“Some species of insects and frogs have evolved with various specific features
that help them from being detected.”

(a) dJustify the statement giving reasons.

(b) Mention any two such features. 2
SECTION - C
(a) “Plasmodium protozoan needs both a mosquito and a human host for its
continuity.” Explain. 3
OR

(b) We all must work towards maintaining good health because ‘health is

wealth’. Enlist any six ways of achieving good health. 3

“Biodiversity plays a major role in many ecosystem services that nature

provides.”

(a) Describe any two broadly utilatarian arguments to justify the given

statement.

(b) State one ethical reason of conserving biodiversity. 3

Name and explain a surgical contraceptive method that can be adopted by

the male partner of a couple. 3

Human Genome Project (HGP) was a mega project launched in the year 1990

with some important goals.
(a) Enlist any four prime goals of HGP.

(b) Name any one common non-human animal model organism which has

also been sequenced thereafter. 3

57/5/3 AN Page 15 P.T.O.
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26. Y T HRIHH o 7T R Hhivl Teh THE 19 (ITFM) 7 | I8 GHTad & o fag
fop ot aifea wrmee & fgferft gsa % afdem =1 & Wi w96, Jeu-yos gr
JTTHATT ST 1ol =TT ShT ST ST | 3

27. Tremdm €ial 6 Ae & S Sifdd gy fhe uftret ox fohg TTu Jequn s Seorg HIT | 3R
TeTuT} o ToTQ STfe GRT I TSRt 1 Iooi@ SHIfT | 3

28. “GrETg % Ui i U fafdre gt @ s 2q (i wEe % fom) oTR w U starei
Tehreh < ITANT GRT IRSHHT qwameg 9e forehfara fep o 2 17 S-senfiehifast gro faesfea
39 TS BRI hY SAREAT ST | 3

Qg - g

3T 29 AT 30 TehLUT LT T3 & | Teeh T o Teh 3T H HATqieh fareheq feamman 2 |

29. 9 IS geAshd fepeft urard) W THAY LT B, O A= U fved e ¥ 39 aitegednd
giEfed gt & fess TRumHEeE HshH0T T U 3 B0 § a7 TE) 1 Al B § | 59
U oh! TS HEd & | T g Fersd WA % JieReT T X HTg 91 oar g, T
forprar ufterea & weh feffa argsra o giar 7 | W7 o 3gwa & fore uftgrereti o1 u =
few 7T T gTT g TR R | S U ST 31EA ek STTHY T o I ferfla

IgHEH yfereft srfshan wal/ reren
CCIR] Faferedfi IT=m & s/Ewa
Q7 i A WYy

A <1 i

Geuial H T ——»

T < IMEIATT (HE) &0
/. A I wa TE
el
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26. One of the major approaches of crop improvement programme is Artificial
Hybridisation. Explain the steps involved in making sure that only the
desired pollen grain pollinate the stigma of a bisexual flower by a plant
breeder. 3

27. Mention Darwin’s observations made on finches during his visit to Galapagos
Islands. Write the explanation given by Darwin on his observations. 3

28. “RNA interference has been used to produce transgenic tobacco plants to
protect them from the infestation by specific nematodes.” Explain the novel
strategy exploited by the biotechnologists. 3

SECTION -D

Q. Nos. 29 and 30 are case based questions. Each question has subparts with
internal choice in one subpart.

29. When a microorganism invades a host, a definite sequence of events usually
occur leading to infection and disease, causing suffering to the host. This
process is called pathogenesis. Once a microorganism overcomes the defense
system of the host, development of the disease follows a certain sequence of
events as shown in the graph. Study the graph given below for the sequence
of events leading to appearance of a disease and answer the questions that
follow :

Incubation Death if immune
period Period of responses and/or
illness medical treatments fail

Period of
decline

Mild signs or symptoms
No signs or symptoms

Number of microorganisms —»

AN
AN

=
3
®
\/
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(@) W% % IER ford rafy & Wft & W1 o H=wor/FsRAur ht Faiferss darar 7 3R
FIT ? 1
(b) T T 31eT shifoe 3T fafgn for Tr Y Sewam srafer @1 8 7 39 A9 genfia Ao
&1 W feIRaw 51 39 srafyr o Teerar | S B Hehar & | 39 fafe et 1 AW

ferRee omr o Trsiereh g &Hetl Bl € | 2
Freran
(b) T Ffcraft 319 Sht TSI T AT FreHTcHS o= ST | 2
(¢ T srafy & =mifaen @ difsa (Tsfia) =afe o gfereft s S5 areft wfoef
SHITIRIAT T T Ffersh R ?
yferedt 3107 (uffie) Ica=1 he areft wfeeeft ifsreprati o1 am ferfia | 1

30. @fi g Shet o et (shiEEEt) < weEn Fived it 8 S Eeht Wit w1 o s
2, et fopdlt ot Sfia o shimT <61 | H Seette 31T STETHIT o UiuTHEET s18 o
T foehR gfEm=r Bid § | 3eretr o fore we & aen gew < | shidemi o faeifa
T 46 7 | IO H I8 ‘44 + XY a1 fedll § 98 44 + XX 7 | 370 7oV foww-gmeht gar
2, QAL YeGl | I8 YR o I 30 HLdl & AT HS FHhI H 22 + X 7T F© FHeh! |
22 + Y HAEM B | gEdl 3R & augeehl gnit 8 3R had Th &l THR 22 + X
SHIFTEH 1 Jeh Icq~ hid! 2 |

Ffl-meft e ok & et fowem (faenfim) & @ Zfe 81 % s
geshiaice foaafoig 9 89 & SROT AW qo foue & 5= <d 8 e sro
HIHEN T § qiEdd 2d1 8 qUT e I 39 B & | e g9 W I gme
I AW HIFTH A3 |

(a) SYIOTET (TYATsEl) FATE ? 1
(b) IfE A & T TRl o e fofm semem & wmfegy ¥ fomaism 7 &1 a
Feol gU ShIHTET &1 aTet fafir= ki o Gvifera Jroent sht T fefem | 1

(c) afg T 9TE T U T IR (22 +Y) TRl T 22 + XX ey Ot A
o1 forfra shtaT & 1 g4 aTeft Hafd o faehr o1 71 qe 38 of SAfas fafge | 2

YA

(c) HHE H Galfees [T qUT 3Teher Iieriera tferft, Srgfvrar aret faehr o1 am forget
3Gk 1 HTIETUT T IeoRg I | 2
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(a) In which period, according to the graph there are maximum chances of a
person transmitting a disease / infection and why ? 1

(b) Study the graph and write what is an incubation period. Name a
sexually transmitted disease that can be easily transmitted during this
period. Name the specific type of lymphocytes that are attacked by the
pathogen of this disease. 2

OR
(b) Draw a schematic labelled diagram of an antibody. 2

(¢) In which period, the number of immune cells forming antibodies will be
the highest in a person suffering from pneumonia ? 1

Name the immune cells that produce antibodies.

30. The chromosome number is fixed for all normal organisms leading to
species specification whereas any abnormality in the chromosome number of
an organism results into abnormal individuals. For example, in humans 46 is
the fixed number of chromosomes both in male and female. In male it is ‘44 +
XY and in female it is ‘44 + XX'. Thus the human male is heterogametic, in
other words produces two different types of gametes one with 22 + X’
chromosomes and the other with ‘22 + Y’ chromosomes respectively. Human
female, on the other hand is homogametic i.e. produces only one type of
gamete with 22 + X’ chromosomes only.

Sometimes an error may occur during meiosis of cell cycle, where the
sister chromatids fail to segregate called nondisjunction, leading to the
production of abnormal gametes with altered chromosome number. On
fertilisation such gametes develop into abnormal individuals.

(a) State what is aneuploidy. 1

(b) If during spermatogenesis, the chromatids of sex chromosomes fail to
segregate during meiosis, write only the different types of gametes with
altered chromosome number that could possibly be produced. 1

(¢) A normal human sperm (22 + Y) fertilises an ovum with karyotype 22 +
XX'. Name the disorder the offspring thus produced would suffer from
and write any two symptoms of the disorder. 2

OR

(¢ Name a best known and most common autosomal aneuploid
abnormality in human and write any two symptoms. 2
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31. (a) (1) TAMEO (FAEO) % TehH H FAW0 AR T T (tRNA) &1 &R &
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(b) () TS T T Ak H b1 AR I (EcoRI) 7 31d Hawaqut yftreht fAug 2 | 3
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SECTION - E

31. (a) (1) How and why is charging of tRNA essential in the process of

(b)

32. (a)

(b)

57/5/3

translation ?

(11) State the function of ribosome as a catalyst in bacteria during the
process of translation.

(i11) Explain the process of binding of ribosomal units to mRNA during
protein synthesis. 5

OR

Describe the dihybrid cross upto F, generation as conducted by Gregor

Mendel using pure lines of Garden Pea for characters seed shape and
seed colour. 5

Bioreactors are the containment vehicles of any biotechnology-based
production process. For large scale production and for economic reasons
the final success of biotechnological process depends on the efficiency of
the bioreactor. 5

Answer the following questions w.r.t. the given paragraph :

(1) List the operational guidelines that must be adhered to so as to
achieve optimisation of the bioreactor system. Enlist any four.

(i) Mention the phase of the growth we refer to in the statement
“Optimisation of growth and metabolic activity of the cells”.

(ii1) Is the biological product formed in the bioreactor suitable for the
intended use immediate ? Give reason in support of your answer.

OR
(1) ‘EcoRI has played very significant role in r-DNA technology. 3
(I) Explain the convention for naming EcoRI.

(II) Write the recognition site and the cleavage sites of this
restriction endonuclease.

(i) What are the protruding and hanging stretches of DNA produced
by these restriction enzymes called ? Describe their role in
formation of r-DNA. 2
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33. (@) (i) U IS b SISAUE H YUIhTY o Tha SISl forehrel hl Sme HIfT | 3
(i) AT deve § giued YUy H1 o e 3He fhl IR WE Wl
qTHTfeRd ST | 2

YA

(b) () & (A HIEr) | 3T o U 3T o Tk Sl samE i | 3

(i) IR H A YT €I BT o STST T 36eh fohegl TR W okl ATHITShd Shifte | 2
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33. (a) (@) Explain the monosporic development of embryo sac in the ovule of

an angiosperm. 3

(i1) Draw a diagram of the mature embryo sac of an angiospermic

ovule and label any four parts in it. 2
OR

(b) (@) Explain the formation of placenta after the implantation in a

human female. 3

(1) Draw a diagram showing human foetus within the uterus and label

any four parts in it. 2
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